THGFEESES

B S E B ER (BE)

1. EEE

2. 5B

3. FfERXR

4. FEEBRR

5. AEEfHt]

6. HEHIRA
(1)ERARE
(2) BHASFT
(3) A F 5

(4) BAFHH

7. SREERE
() EHBF
(2) J@ Hi15Fr
(3) JE i F

8. BAFEHIA
(1) EBABRRF
(2) BAGFT
(3) A FHw

(4) BAFHH

EFRHEEMRS

EFRBETHHEFTL/\KE10

®E  BRES

9. BERE

(1) BEF 7A208 (%) 9Rk304> ~

(2) 5 KR % 515 R U B [ 5E 5 15

10. HEKRE

(1) B8 £1HERUE4IBEHDEIZH
83047 ~ 9155

(2) 5T RE [ 7% 5 15 HERE=E

BEEHE AROELY

12. EERZ

7H29H 1 2 3 4 5 6 7 8 9 10 | 11 ] 12

SHOEEREFEFEMESE FoONEERE
B AR BH | S1IHERERFZ
%18 7R298 B 11:20
%28 78308 X 11:50
%E3H 7R318 7K 11:50
¥48 8H4H B 12:30
%58 8A5H A 11:50
%68 8H6H X 11:50

RKEFTEA10:30/11:00/11:30/12:00/12:35|13:10| 13:45| 14:20| 14:55| 15:30| 16:05| 16:40

78178 (k)

78148 (B) 9BF~128%
R 55
O ERRAE
G EERIL
@IRAD EEXMNHHT=FE ITIRAFITD
i E ARG SE
1BBIZDE200M

= QBXHEG

78148 (B) 9BF~128F
R 7% 5 15
OFRHEMEHE QAR R
QA EMH L S EFEE
@Fp 5B REE

7R148 (H) 9FF~120F
5 S
OB FHIAE QFFREF
BE. BEHRAKETICHFRERMAN
FESNTLREIZDONTIE. ZRID
BRAFCICRFIIZIRHE TS L,
1 AIZDZE200M

H*iE 11:20{11:50/12:20{12:50|13:25/14:00{14:35|15:10|15:45(16:20|16:55|17:30

78308-7A318 | 2 3 4 5 6 7 8 9 10 | 11

RKERFTE A 11:00/11:30/12:00| 12:35|13:10| 13:45| 14:20| 14:55| 15:30| 16:05| 16:40

H*iE 11:50(12:20/12:50|13:25|14:00|14:35|15:10{15:45|16:20|16:55(17:30

8H4H 1 2 3 4 5 6 7 8 9 10 | 11 | 12

KEFTE A |11:40/12:10/12:45/13:20|13:55|14:30| 15:05| 15:40| 16:15| 16:50| 17:25| 18:00

H*iE 12:30/13:00|13:35|14:10| 14:45/15:20{15:55|16:30|17:05|17:40|18:15|18:50

8A5H-8A6H| 1 2 3 4 5 6 7 8 9 10 | 11

RKERFTEA | 11:00/11:30/12:00/12:35|13:10| 13:45| 14:20| 14:55|15:30| 16:05| 16:40

H*iE 11:50(12:20/12:50|13:25|14:00|14:35|15:10{15:45|16:20|16:55(17:30

13. EE-BRSATILERE

(B)EEIL, (B)D2=7I50TVNSATIVL(BEYEEEZEZSE-1~37)
(E)DxT7)—hvTlE (B Ea—FIILR)—<—hyTRSATIL
(BB EEEESEZDE-1~358)

14. 2Dt

(1) C2fRIL. 1BAfE2HE

(2)EERE. EFEHE. IRARRIRE. 3. 2RO ETEERFEATRIFE
(B)COBEMICHARINTOVEVWEEHIFRRERHNEZEERUVREEIREEIZLD
(A)REEOXZBIE. (—H)EFREEERFBLTITVET . FHREZFITOLTIEL,
(—t) BFEETRICBREVAHELESLY,
(B)HMEEBOZRBICH->TITAFRAREL, BEHREST

(B)REFEICKY. COFBMICHRINTWSES - BFLUFEITOVNT. EET S
HELBHYET,

15. BE-HRIBE

#HERBF VRT3 g8
5)526[E 5 FBHMEHFORONYI (M) (FLFTAF7H—RE)
1 HEEK ﬂ77b1h$3ﬁui7j' —7
2 BEEE 4/ LES57ke. 3m%55ke. ttE 2k
3 BEE EFEMEE
HERFF VR TF—1avE
2ENEHREIHERERRRE
EFHBHE
FRENEEZEERE

JBCIHERHE HITRAUA LI —X RFILASARY 2D BEER
(B)FE25E A/ S—=)L Ay T (M2) (TRAF—OE)
1 HEEHE YSILIFRIE
2 BIEEE 56kg. ftE2keil
3 El&E RTILARORY A BRI E
JBCH=E

FRENEEERE

JRA;P’..E%E% EFRBEHRSEN

T
2 BiEEE 55keg. HETkeld

3 BIE EFRBEENRSRE
EEREEEERAGHESRRE
EFREIRRRE
FREREEERE

HERRER

1 HEESE FSILRRIR LA T (d)
2 BEEE 4B LEOARS6ke. B1#RLLIT54ke.

3 EBlE 3% 53ke
HmERRRE
BENBEEERE

SE ztﬁiﬁgr‘éﬁ

1 HEEE YSILIFRBI#
2 BIEEE 56kg HE2keiH
3 ElE BFENBEERE

Uavx—XhvIE1-28
1 H:'.iﬁ#% HSITLYRRCI#R
2 AIEEER 56kg 4LE2keiH
3 BlE FENFEARE

JRAXRFRE

B Emhv I pEY

1 HEEHE YSILYRRIFBLULAKUT

2 BIEEE 56kg. ftE2kgiH

3 BlE RRGHRGSERE
FENBZARE

JRAZRERE JLURU—kODq—
B TFoN—¥E

1 HEEE YSILIRRIE

2 ABIEEE 56kg. ftE2keiH

3 BlE FENBZARE

R
=Ll



SHeFE F5E BEAHE #MEHRE

(B4 FF)
i fil VA 7 7 |5 > R ER
St A I H Hi
X 4 A—=2> AR B1#k B2#} C1#k C2#} 3% 2%
AR - B @ = 1,000 @ 1,600 1,600 @ 1,600 ® 1,000 ® 1,200 @ 1,200 @ 1,200 @ 1,200 @ 1,600 ® 1,400 @ 1,000 12 R
_ 900 750 550 — 550 400 — — — 750 650 - 2,000
1 ® X 35m 263 - 193 = 193 £t MOn £ oA B O+ B B1 263 B2 228 £ 2 | w100
TH298 @ 180 # 150 # 110 B 1% 110 g0 B M m M 4 & 150 & 130 2B 2o B 400 14,534
B) |& & 117 98 72 = 72 52 = = = 98 85 258 vr B g
63 53 39 39 28 53 46 = * AT 140
AR - B 1,600 @ 1,600 @ 1,600 ® 1,600 @ 1,200 ® 1,200 @ 1,200 D 1,000 @ = 1,700® 2 1,700 ® 1,200 1R
750 — 550 — 400 — — 400 4 5000 1,150 700
2 = = 23 = & = 193 m #F m 140=m #F x & 140 | /1750 L 408 245
782308 #0150 4% # 110 B % g0 % M % 80 | 5 h ' 1,000 230 140 19, 345
(k) |& 98 E 72 E 52 = -3 7 650 150 91
53 39 28 28 7 350 81 49
AR - B 1,600 @ 1,200 1,600 ® 2 1,600 3 1,400 @ 1,400 D 1,400 @ 1,400 ® 1,400 @ = 1,600 @ 1,400 11 R
750 750 550 550 400 — — 550 — > 3,000 800
3 ® — 263 263 5 193 193 - M= £ = ¢l — 193¢ = ~ & L 1,050 280
78318 150 150 110 110 £ os#® B M & O RV OB 3 Y Z o600 160 15,234
k) |& 98 98 72 72 52 = = 72 = < w390 104
53 53 39 39 28 39 =90 56
WO - B @Mz 1,70 @ 1,600 @ 1,600 (@ 1,200 ® 1,600 @ 1,600 | @ 1,200 @ 1,200 @ 1,200 D 1,200 ® 1,200 ® 1,200 12 R
o & 10,000 1, 250 M 550 y 550 450 — 400 — — — 450 —
4 ] R z 3,500 A 438 & 193 & 193 — 158 = & £t MOA £ oA B O+ B €2 — 158 C2 = 4%
8848 o g & 2,000 f;, 250 = K 110g K 110# 90% & #g0 M 3% M F M i 90 #% 8 1% 217,573
(a) |& 1 v ® 1,300 A 163 2d 121 d M0 59 = 52 = = = 59 =
- I H 00 88 #C  39m C 39 32 28 32
R - B a 1,200 @ 1,600 (© 1,600 ® 1,400 @ 1,400 | ® 1,400 ®) 1,400 @ 1,400 D 1,000 ® 1,200 @ 1,200 11 R
2 1.25 450 — 450 — 400 — — 400 450 —
5 -] 0 438 = 158 1 158 x F Wa #F A & 140 €2 = 158 €2 =
8A5H v 250 #0090 % % M 90M g0 M % % 80 w 90 #% #  i% 9,723
(B) |& M 163 59 " 59 = 52 R R 52 59 "
51 88 32 32 28 28 32
L - B ap 1,800 1,600 © 1,400 ® 1,400 @ 1,400 ® 1,400 ® 1,400 @ 1,400 ® 1,200 @ 1,200 ® 1,200 11 R
7 2,000 = J 2,500 450 — — 400 — — 450 — —
6 H ; ~ 00 |~ % NI 705 t 158 A F oa $F - 140=- # = £ €2 = 158C2x & G+ &
8H6H o0t a0 JET = 500 £ 90 M @ M & @ g0 M 3 M % 0HmM & mE B 14,709
(k) & v | 260 =7 % 3% 59 = = 52 = = 59 = =
B 140 # x 175 32 28 32
Ashruii @ 50 |# 10 | [# s 5 # 5 B 5| 8 5] 15
HiE T2 Bl 105 105 105 105 105 75 105|#5 200 150]
EEE 23,189 6, 564 8,145 6, 748 9, 029 15, 400 20, 668 11,375] 101,118
3 1, 400 1, 400
520 35 35 70 260 105 1,025
HAEF LA 4,715 2,163 5,229 6, 468 13,167 14,520 13,514 5,020 64,795




